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13.2.5

23b (1 mawn) 2 24b (prmnas)

Note: (37508Wp) IN225 P1IDP PRY PYITY refers to an act of pwrrp which delegitimates consummation; such as being w770 2 sisters or
a woman and her daugher simultaneously. There is a well-known dispute between 8371 728 (.82 pwI1T)) as to whether such pwIT) are
valid and necessitate a v (»ax: valid) and is one of the 6 instances where »an1 837 disagree and 7157 follows »ax (0”2 5’39)
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L 1y mwn: pv1Pp with one of 2 sisters and consequent confusion as to which one
a.  Must divorce both: each one could be nwr MmNy
b. If he dies: and has only 1 living brother, must perform nxn on both
i. Could not: perform ma» even on the 2" one, since she is 1NN MK
c.  Possible implication: 2"9nRwp are valid (supporting »ax; see note), since we require pv» to both
i. Rejection: in our case, the nwTpn was originally identifiable, then then confusion set in
d. Purpose: to teach 't mwn — that if there are 2 brothers, only the 2" one to act may perform ma»
on the one not receiving n¥*Yn (as per below); otherise, she is paon MPIPr MNR
II. 1 mwn: continuation of "y Nwn with multiple actors
a. 2 men: were WTpn 2 sisters and then confusion set in (sequence — to avoid taking sides in 2">nxwp)
i.  Both men divorce both women: if they died childless:

1. Ifeach had 1 brother: each one is 9N both women

2. If A had 1 brother and B had 2: (A) the single brother perform nx%n on S1, S2
a. Then: B! performs n¥’n on S1 and B? may perform ma» on the 52
b. If: they performed ma» (without consultation), we do not force separation

3. Ifeach had 2 brothers: A! performs n¥’n on S1 and B! performs n¥>n on S2
a. Then: A2 may be n1»n 52 and B2 may be na»n S1
b. If: A2 performed n¥*Yn neither B! nor B2 may perform ma»; rather B! performs

n¥Yn on S1 then B2 may perform ma» on S2
c.  But if: they performed m1a» (without consultation), we do not force separation
i. Even o272 even though v. 1 extends to n¥19n, this is an Xnanor and
1N2% YN NOR is 13277; in case of N¥YN pav, we don't force separation

b. Needed: to teach that even though we might have thought to forbid ma» as a precaution against 1 brother,
nonetheless we allow as long as n¥’>n happened first (2if she is the real wife, she is now P> 1mn and
may marry the other, non-related fellow’s brother)

c.  Also needed: to teach that we aren’t concerned that he will perform ma» first. Case distinct from &:3, where
we forbid either brother #3 or #4 from marrying either sister, either due to np’t or (n"1%) because of our
concern of nullifying pna> nnxn

III. 11 mwn: Ideal na is eldest; if a younger brother acted, it is valid
a.  Source: N3%N WITH ON V. 2:
i. 71527 teaches that the eldest should perform oya»
1. Not necessarily: the 1133, else the na%n doesn’t parse
2. Purpose: for using 132" just as 1131 only gets his double portion prmna, similarly
the brother who is na»n only inherits his dead brother’s estate prmna

ii. 751 WA excludes PNY»R

iii. »nx pw 5y oy for inheritance (not for naming, as per v. 3)
1. ~a7if not for w"n, verse would have held literal meaning->child named after father
2. Various possibilities: entertained to suggest that the only way to read the verse is nom

iv.  7np» K51 excludes eunuch
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